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Answer any Five Questions
Al Questions Carry Equal Marks

Explain various DML fimety i . [8+T]
Explain shadow paging recovery s 1 [13]
Explain deletion and insertion operations i I [13]

Explain about various database users and ini DEMS.

Draw an ER.-Diagram for Week entity set and 5 mz with example. [7+8]

Explain modification of the database operations in relat
Explain about domain relational caleulus with example. [8+7]

©
O

gebra with example.

What is normalization? Explam 4NF and SNF Normal forms [13]

Department of Computer Science and Engineering, NRCM




2" NARSIMHA REDDY ENGINEERING COLLEGE ' comes
L UGC AUTONOMOUS INSTITUTION A

v Maisammaguda (V), Kompally - 500100, Secunderabad, Telangana State, India Permanently affiliated to NTUH

Code No: 154AM R18
JAWAHARTAL NEHRU TECHNOLOGICAL UNIVERSITY HYDERABAD
B. Tech IT Year IT Semester Examinations, AprilAMay - 2023
DATABASE MANAGEMENT SYSTEMS
{(Common to CSE, IT, ECM, CSBS, CSIT, ITE, CSE(AL&ML), CSE(DS))
Time: 3 Hours Max. Marks: 75

()( Question paper consists of Part A, Part B.
i A 15 compulsory, which carmies 25 marks. In Part A, Answer all questions.

5 %R Answer any one gqueshon from each umt. Each question cames 10 marks

v have a, b as sub guestions.

PART-A
(25 Marks)

21
[3]
21
[3]
2]
[3]
21
[3]
searches, especially range selections. [2]
and B+ tree indexes? [3]

(50 Marks)

Identify the main components in a DBMS and bnef
Explam the following:
1) View of Data
i) Data Abstraction
1) Instances and Schemas.
OR
What is data model? Explain Felational Model and E-F. model.

Draw an ER-Diagram for Library Management system.

Differentiate between a relation schema and relation mstance define the
degres of a relation.
Let B ={ABC) and letrl and 12 both relations on schema E. . Give an expression
Domain relational calenbus that 1s equivalent to each of the following:
DIlarl) @) os-ATl) 1) rlne2
OR
What is Relational Model? Explam about vanous domain and integrity constraints
in Relational Model with examples.
Explain various fundamental operations in relational algebra with examples. [5+3]
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levels of abstraction in a DBMS.
data ? What are the different data models? Explain. [7+8]
ain the following kinds of constraints that can be specified in
give an example of each: 1) key comstraint u) participation

Consider the following relations

Sailors (g1d. sname, rating, age) 0

Boats (bid, bname, color)

Reserves (sid, bid_dav) @

Write the statements in Relational Algebra, i Calculus, Domam Relational

Caleulus and SQL for the following questions.
a) Find the names of sailors who have reserved a Fed

b) Find the names of sailors who have reserved at least boat.

c) Find the names of sailors who have reserved a Fed and a i
d) Find the names of sailors who have reserved a Bedora t.

e) Find the names of sailors who have reserved all boats. [153]

What are the steps to be followed to convert a relation im 3NF to

Discuss the importance of entity integrity and referential integrity o L [,—?]

When is the decomposition of a relation schema B into two relation

said to be lossless-jom decomposition? Why is this property so important? a
necessary and sufficient condition to test whether a decomposition is lossless-join.

Discuss fourth normal form with illustration. [&+ 7

Diseuss in detail about imestamp based concurrency control techmiques.

Write about Log based recovery. [8+7]
State and explam vanous file orgamization methods. Give surtable examples to each of
them.

What are the Pros and Cons of ISAM? [8+7]

—oooo—
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‘ ? Answer any five questions
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Draw stmcture of a DBMS.
Explain specialization concepts with an example.

Max.Marks: 75

[7+8]

What 1z EF. model? in the basic symbols used for entities, atiributes and relationships.

What is an atmbute? ious types of attributes with examples.

How to alter. destroy tables 7 Give example quenies.
Give a brnief note on views.
Explam fimdamental operations 1 ra with examples.

[9+6]

[7+8]

[8+7]

[13]

Whﬂlismntb}‘nmmahmﬁm?Exphm@ﬂﬂmummlfmswﬂlmemmp}&

Explam the following with any example quenies. @/\

Explain log-based recovery protocol.

What iz the purpose of indexing in DBMS? Explain secondary i
diagram

What is meant by file organization? Explan m bnef about Indexed
Method (ISAM).

How to testseﬁalizahi]it}rnfaschndule?&@hiuwi'ﬂlanexﬁ:

—oolloo—
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1 i of Database Administrator. [15]

2 What is ? Distingmsh between Super key, Candidate key, Pimary Eey

for a relation wil [13]

2NF, 3NF and BCNF Nomnal forms with example.

' [15]
What is senalizability? Explnm@ view 15 serializability in detail [15]

Describe insertion and deletion 1 in B+ tree with example. [15]
Explaim vanious levels of data abstraction .

Define generalization, specialization and a icn? How it is represented in E-R
Model? [7+8]

Let B = (ABC) and let 1] and r2 both relations on sc Give an expression mn the
tuple relational caleulus that is equivalent to each of the i
a) [Tafrl} b)) rlmr2 cirl-r2 , [5+3+53]

Explam various data manipulation and data defimition statements %ﬂmyﬁ
[13]
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Answer any five questions

All gquestions carry equal marks

Define data model. Explain the entity-relationship model with a neat diagram.
How can we translate an ER. Diagram into SQL statements to create tables? Discuss.
[7+8]

Describe the set operations of relational algebra, including vnion (1), set difference (-),
and cross product (X). For each, what can you say about the cardinality of their input and

output tables?
Compare and confrast the Tuple Belational Caleulus and Domain relational caleulus.

[8+7]

BEnefly explain the complex mtegnity constraints in SQL Triggers and active databases.
Why is a table whose primary key consists of a single attmbute automatically in 2NF
when it is in INF? Explain in detail. [5+10]

Discuss the Recovery with Concurrent Transactions.
Elaborate the Timestamp Based Protocols. [8+T]

Compare and contrast the Hash-Based Indexing and Tree-based Indexing. [13]

Explain the differences between physical and logical data independence.
Define a trigger. What are the differences between row-level and statement-level
tnggers? [8+7]

Give an example that illustrates how a collection of relations in BCNF could have
redundancy even though each relation, by itself, is free from redundancy. [15]

What is Transaction? List and explain the properties of Transaction.
How does a B+ tree index handle the search, insert and delete? Discuss. [8+7]
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Answer any five questions
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Explam ve ggplications of DEMS. [15]

What is also define Relationship set. List and explain the symbols used to
draw ER Di [13]

What iz a view? ify a view? Write about view implementation techniques.

[13]
Mmbneﬂyabmﬂ[bm&mhnhmnuﬂlsnﬂaﬂeexamp]& [15]

[13]
[15]
[13]

[15]
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